PRODUCT INFORMATION / &S5k

- BEAE: - NEE

- BUWEEEE: M(3T47L) — L(5—2)

- BNEEE XA, [FmE

- h5—: 2= RD(b

- T YA NMURTF TV T332 % SHRIZEN BBEIRNS
OZHEMBBRIFVLET

Features / %5

- 2CU 545 —%¥%A

- Wave h—7>> A7 AW

- h—Jh0I=]&E

- FILWRAA - RIANLDTHA -T2 "I TT

06/2025/v2

%SilentGliss



SYSTEM SPECIFICATIONS / A7 LMft#k

A. SYSTEM
DIMENSIONS / max.— kgm,,
S AT LT iEEEE
6 m 14 kg
h—-TmKEE - 2m 4m G

Wave 2C J5449—

h—-TomKEE - 2m Am 6m
2C J5449—- or O—

5— —

(o)} ul [o0] ~

w w N N (2} [} (2} [}
w N N w o o 0o 0o
' w '

(kg max.)

SG 3870 %SilentGliss



B. PROFILE / L=l

L=LEh=TMID
TRk

AEIVEDEFHETER
ROFEICTHIGUE

9, 0E#IBZZN—T
IITICDWTIE 50cm

DEERDET , FEEH
HABEVEh S
(AN

C.HOW TO
MEASURE /
RIETTZE

FITTING / &

A. FITTING
INFORMATION /

HEEHEHER

I35y NEDAIE

B. CEILING
FITTING /
KHHE

93>7 - SG 3825

SG 11190
L=

AR
v >26cm

A

AN

SN S

!

=L el E

FFAREREBRICOVTE. HHABBVEDEE
&L,

100 max. 500 max. 500 100

= . o

L [

gy

min. 60

min. 120

CIEARIBCADEIZEPRCGERE IS

%SilentGliss

DOW>
il
\.I
S F
.
2
[8)
St
St
A
S
g
073

E: t’—?v‘-{'b_-'fd'— SG 10731 RhH0&w/INEE
150 cm

SG 3870



SG 3825
937

J3oyh -SG 3832 %% /%/
e
N

__min.60 min. 120

CIERRRICEDEERRSEREZS

38/\/‘2()}
<

SG 3832
I35k

C. WALL FITTING / %
IFEEESE

AX—=NI1WIR
(FHEHER) - X

AN—bJ19H2wh SG 11200 - SG 11204 & 7
5ovhk SG 3832:
WEEBE RILIRT SG 10492 (M4x8)

-~

ZDITAI—RI19IZAyh SG 11210 -
SG 11214 & JF545vhk SG 3832:
MHEERR RILMRS SG 10492 (M4x8)

7

SG 3870 %SilentGliss

Smart FixSmart Fix / AX— X mm X mm
T4y (SG 3825) (5G 3832)
SG 11200/ SG 11210 52 70

SG 11201 /SG 11211 72 90

SG 11202 / SG 11212 92 110

SG 11203 /SG 11213 112 130

SG 11204/ SG 11214 142 160

SG 11156 182 - 210 200 - 228




7

hl

X

i

A=YV -~ I19H2yh SG 11156 & T35

vk SG 3832:

WEEBm NILIRT SG 10407 (M4x10)

X

A\

AY—KI19D2Yh SG 11200 - SG 11204 & J

vk SG 3825:

WHEEBG NILMRS SG 10074 (M4x8)

N\

2

7

ZOIFAI—NI1vIA Yk SG 11210 -
SG 11214 & J359hSG 3825:
WHEEBSR RILNRS SG 10074 (M4x8)

N\

x

A= R=BIAR-~I1vH2tyh SG 11156 & TS

yb SG 3825:

MEEE RILNRS SG 11158 (M4x12)

A 20 » <
S
SG 3825 SG 3832 SG 10074 SG 10407
n3>7 J30vh +BIMILRRS M4x8 +FRIVRRD M4x10
N > o
\\\\\\ \\\\\\\ 60 & 80 $
o4 S N
16{ 62 a7 62
X’ 16{ N’
SG 10492 SG 11158 SG 11200 SG 11201

+FRRIVPRS M4x8

BIRIVbRS M4x12

%SilentGliss

AN—=NI4wIXyh 60 mm

AX—=hJ4vIZZyh 80 mm

SG 3870



/\
100 > 120 > }‘\
( \A ( \‘ 150 \‘ 5\2'9
<& U S Uy 5
Xy
16{ %4
SG 11202 SG 11203 SG 11204 SG 11210

AN—=NJ1wIRzZyh 100

AN—=NJ1wIRtyh 120

AN—=NJ1wIRyh 150

ADIT AN —I1wI Aty bk
60 mm

80", o™ o T
L 29 £ 23 N BT
A16/29 V29 <29 29

A
16
< o %
SG 11211 SG 11212 SG 11213 SG 11214

VORI e ISP W
80 mm

200 \
62
/ ~
\ﬁ
<
SG 11156

AN\ AN—=RIT1wI X
vk 200 mm

> 5

SG 11295 SG 11302

ADIT AN —RI4wI X2y b
100 mm

%SilentGliss

ADITP AR —RI4wI Xty b
120 mm

SYSTEM OPTIONS / S5 LATZa>

A. WAVE /
WAVE h—7>

ADIT AR —RI1wI Xty b
150 mm

Standard components / E#ERERLEB R

- SG 11295 IV RANT

- SG 11302 Wave 2C 735445 — 80



& &

SG 6364 SG 6365

QBQQBE

¢

SG 3582 SG 6349

Wave stack / TefzdHMX - Wave 2C U519 — (AZHEAERLEDTR)

SG 11303

Optional components / AT ABRERG:
- SG 6364 Wave II9X57>33>

- SG 6365 Wave )\>H—

- SG 11303 Wave 2C J3544— 60

Curtain components / N1—F A8 EbGR:

- SG 3582 7v7
- SG 6349 Wave 7—7

A = Stack depth / BUATOz K
B = Stack size / TRDfZfz M

C = Min. distance / B2/\EIBR

T [ F
. 8 /

» - < A
C 2xC
Wave2CH5A4 IO =T DEH BITOREHMK TBORHMY /) \E bR
— 80 /{83 w bR A B* C
80/175 6 21 140 ”‘;?;Ob?n‘” 90
80/2.0 7 ~23 160 ”‘;?;OI‘/?T]‘” 100
Wave 2C 9514 TVIDIT =T DEH BITOREHMY TBORHY /) \bR
— 60 / &% v NERR A B* C
60/1.7 4 ~2. 100 ”‘;\g&?n‘” 70
60/2.0 5 23 120 73;’_'2\;5?37 80

*Stack size B /fzlcHX (EREERBRKER )
- single stack / FlcleX = + 130 mm

- pair stack / @fzfzdHt = + 30 mm (RO
e X)

*Stack size B / TeledHX (AT 3 i@RERGR)
- single stack / FlcleX = + 200 mm

- pair stack / mfclzdMt = + 200 mm (FAID
fefeH )

%SilentGliss

SG 3870



PARTS / &bamn

A. STANDARD PARTS / %8B

B. OPTIONAL PARTS / A7> 3> 8Ba

SG 3870

SG 3090 SG 3340 SG 10492
J-Rg 3.5mm F>23a>IIAb +FRIRILRRS M4x8
SG 3832 SG 3582 SG 11156
FEZSIN 9% % 1=N—HIAI—RT199 Ry
200 mm
SG 6086 SG 3802 é*» SG 11200
2TV AT REODENSIE < A3 —hI4yH 2y 60 m
SG 6288 . 563825 > SG 11201
A-N—59T7—1x Q}f@) 9527 . 23— NI19H 2Lk 80 mn
~J
SG 10731 , SG5115 - SG 11202
Fr AL RE-J7¢ UTAF—twh / T3MUh / ARD332TVYD . AN—=bI4yIAzyh 100 mm
N
SG 11190 SG 6063 . SG 11203
L= A—N=3vTT7— L % A3—NI4yH2 Yk 120 m
SG 11285 SG 6098 . SG 11204
14 Reyh BRIVS- ARX—hNI4yHZZyh 150 mm
SG 11300 SG 6283 Sy, SG11210
2C J34%5- “1-3F- y\ RYITAR—hI1vI 2k 60
Ny I mm
SG 6349 Sw, SG 11211
Wave 5—7 /\ ZDIFAR—NIvIALYN 80
& I mm
SG 6364 SG 11212

Wave I9X7>23>

)

ADIT AN —RI4wI Xy 100
mm

SG 6365 oSG 11213

Wave /\>H— / ] ZOI7AR—RI4vIREYR 120
< mm

SG 10157 SG 11214

D1y XEBHEREEMm

ADITAN—I1wIXzyh 150
mm

SG 10277

+FNRIVDRD M4x12

SG 11230

DAL=l *BoEREEm

SG 10407

+FNRIVIRS M4x10

Bl

SG 11238

VEANRY B EEEm

%SilentGliss




S5G 11295

IVRRANT

SG 11302

Wave 2C J544— 80 mm

RRL

SG 11303

Wave 2C 75445 — 60 mn

%SilentGliss

SG 3870



SG 3870

%SilentGliss

10



1

%SilentGliss

SG 3870



SG 3870

%SilentGliss

12



	SG 3870
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	カーテン最大重量 - Wave 2C グライダー
	カーテン最大重量 - 2C グライダー or ローラー

	 Profile / レール 
	レールとカーブ加工の情報
	SG 11190


	 How To Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	クランプ - SG 3825
	SG 3825

	ブラケット - SG 3832
	SG 3832


	 Wall fitting / 正面壁設置 
	スマートフィックス (補助金具)
	SG 3825
	SG 3832
	SG 10074
	SG 10407
	SG 10492
	SG 11158
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 WAVE / WAVE カーテン 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 



